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Differentiation of
Trigonometric Functions

d (Sinx) = C d
7 Sinx) = Cosx —— (%)

d .
a(Cosx) = —Sinx a(x)
(tanx) = Sec? ‘ (x)
- (tanx) = Sec*x —(x
2 (Cotx) = ~Cosec?
= (Cotx) = —Cosec®x — (x)
2 (Secx) = Secx.tanx —
7 (Secx) = Secx. tanx — (%)
a(Cesecx) = —Cosecx.Cotx a(x)

Differentiation of
Hyperbolic Functions

d d
E(Smhx) = Coshx a(x)

d _ d
a(C oshx) = Sinhx a(x)

d(t hx) = Sech? d
7, (tanhx) = Sec xdx(x)

d(Cth)— Cosech? d
7, (Cothx) = osec xdx(x)

d d
= (Sechx) = — Sechx.tanhx T (x)

dx

d d
— (Cosechx) = —Cosechx.cothx —

dx

(x)

6)

Differentiation of Inverse
Trigonometric Functions

d (Sin—x) = 1 d
I in""x) = T ix (%)
d (Cos~1x) = -1
7, (Cos™x 7 dx (%)
d (tan-1x) = d
dx an -x 1+ x2 dx €
d (Cot—1x) = -1 d
dx ot )= 1+ x2 dx €
1 d
— (Sec™1x) = — (%)
d |x|\/x2 — 1 dx
2 (Cosec 1) L2
— (Cosec™'x) = —(x
dx |x|Vx2 — 1 dx
Differentiation of Inverse
Hyperbolic Functions
d 1 d
—(Sinh™1x) = ——— — (x)
dx V14 x2 dx
2 (Cosh1x) =
T osh™"x) = pom— (%)
d (tanh—1x) = d
dx ani " x) = 1— x2 dx (%)
d (Coth~1x) = -1 d
dx 0 )= x2—1dx €
¢ (sechix) = ——— %
—(Sech™'x) = ——— —(x
dx |x|V1— x2 dx
? (Cosechx) = —— L ()
— (Cosech™'x) = —(x
dx lx|[Vx2 + 1 dx
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